Uddevalla BF

Partavling 1 2019-05-31

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poang % Namn MID Klubb
1 4 253 75.30 Peter Johansson - Erik Franzén 245 76 Borlange BK - Hedemora BS
2 10 211 62.80 Elisabeth Olsson - Kerstin Edwall 42078 47140 Asa/Frillesés BK
3 12 194 57.74 Hakan Gabrielsen - Eric Behm 27871 187 Borlange BK - LudvikaBygdens BK
4 11 193 57.44  Benny Olsson - Roger Nyman 592 7522  Skovde BA - Kungshamns BK
5 5 184 54.76  Kent Rorqvist - Renée Blixt 2491 60183 Arvika BS
5 13 184 54.76  Karola Hogberg - Lars Lilja 17222 4118 Lindesbergs BS
7 8 169 50.30 Therése Andersson - Karin Erlandsson 35554 45509 Orebridgen - Nora BK
8 6 166 49.40 Rebecca Nelje - Jan Holmstrom 42427 42433 BK Albrekts
9 9 164 48.81 Margareta Forsberg - Tommi Oberg 57337 3818 Billeruds BK
10 7 151 44.94  Micael Svensson - Leif Erlandsson 2383 45510 Orebridgen - Nora BK
10 15 151 44.94  Evert Bengtsson - Birgitta Bengtsson 24224 24225 Kalmarsunds BK
12 1 142 42.26  Sven Martensson - Ewa Eriksson 41916 80479 BK S:tErik
13 3 140 41.67 Thore Nilsson - Leif Landhquist 10116 90741 Kungsbacka BS
14 16 135 40.18 Katarina Magnusson - Christina Gabinus 44905 26237 BS Damernas - BK Everfresh
15 14 127 37.80 Gunilla Lindahl - Ulla-brith Johansson 29639 55028 Tjorns BK - Stenungsunds BK
16 2 124 36.90 Lennart Keussen - Ewa Merkander 53649 61480 Djursholms BK - BK Debut
1 4 K976 2 4 DKn10 3 410652
Nord vED974 Ost v D862 Syd v 85
Ingen ¢+ EDI10 NS ¢ E9875 ov ¢+ Kn754
8 *2 #Kn105
4 E53 410842 487652 &K4 & E987 4 DKn
vK82 vKnl05 vK974 vEKn53 vDKn10976 v EK32
¢ Kn87 ¢ K653 +Kn + D6 ¢E2 + K93
#E632 #D10 *K87 #E10654 «8 #E643
4 DKn 4 E93 4 K43
v63 v10 v4
4942 ¢ K10432 +D1086
#KKn9754 #DKn93 #KD972
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 2 3NS+1 *2 430 140 00|10 2 3vO-2 *Q 100 13.0 10|13 2 4y V+2 &J -680 14.0 0.0
13 1 3NS= +J 400 120 20|16 12 44 V-2 ¢ A 100 130 10| 1 16 4v V+3 &J -710 8.0 6.0
15 6 2¢ O-3 v6 150 100 40|14 7 2v0-1 *Q 50 90 50| 4 6 4vV+3 & -710 8.0 6.0
3 5 2vyN= LY, 110 60 80[15 6 2#0-1 vT 50 9.0 50| 9 12 4vV+3 &J -710 8.0 6.0
9 4 24 N= a4 110 60 80| 3 5 340+= vT -110 40 10011 3 4vy V+3  &T -710 8.0 6.0
16 12 24 N= +5 110 6.0 80| 8 11 2vO= *Q -110 40 100(14 8 4vy V+3 ¢5 -710 8.0 6.0
8 11 3NS-1 +8 -50 10 130 9 4 2vO= *Q -110 40 10.0| 7 15 6y V+1 &J -1460 1.0 13.0
14 7 4vyN-1 +5 -50 10 130(13 1 24S-2 +J -200 0.0 140|10 5 6v V+1 v5 -1460 1.0 130
4 4 EK762 5 «D73 6 4D72
Vast v6 Nord v K984 Ost vK73
Alla ¢ KDKn NS *7 ov + EK84
#Kn763 #KDKn82 D43
4 Kn10954 «D83 & Kn42 4 K105 4 K653 «E98
v D952 v 1083 vED1065 v72 vD42 vKn1098
2 + E1073 + K86 + ED54 ¢+D62 73
»E84 #K52 *74 #9653 #Kn92 #K1087
@- « E986 4 Kn104
v EKKn74 vKn3 vE65
¢ 98654 ¢ Kn10932 ¢ Kn1095
D109 &E10 &E65
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 6 3NN= +3 600 13.0 10|10 1 INN+2 v7 150 13.0 10| 8 15 3NN= v] 400 140 0.0
10 5 3NS= a4 600 130 10(13 3 3v V-3 &K 150 13.0 10|11 6 INN+2 &7 150 120 2.0
13 2 INS+1 *4 120 100 40| 5 7 24 S+1 &7 140 100 40| 9 14 INN+1 vJ 120 9.0 50
1 16 3NS-1 s] -100 50 9.0{16 2 INS+1 v5 120 80 6.0[/10 1 INS+1 a5 120 9.0 5.0
7 15 3NN-1 2 -100 50 9.0| 8 15 3#N= v7 110 6.0 80| 5 7 2¢ N= vJ 90 6.0 8.0
11 3 2&#N-1 v8 -100 50 9.0|12 4 2¢DO-1 vJ 100 40 100|12 4 2NN-1 v2 -50 3.0 11.0
14 8 2NN-1 .7 -100 50 9.0| 9 14 INO= +J -90 20 12.0{13 3 3NN-1 vl] -50 3.0 11.0
9 12 3NS-3 ] -300 00 14011 6 2¢vDV= &Q -470 0.0 14016 2 3NN-2 vJ] -100 0.0 14.0
7 « K87 8 4« DKn76 9 4 D10632
Syd v E96 Vast vE642 Nord v EKD986
Alla ¢+ D4 Ingen + K109 ov *7
+K9864 *76 D
41053 & EKn42 4 EK 41054 ~E8 4 Kn7
v 103 v KDKn7 v K75 vD109 v 104 vKn
¢ KKn9873 ¢ E6 ¢ EKn73 ¢ D5 ¢+ DKn102 ¢ EK6543
#E5 «D102 #5432  &EKD108 #E10865 #KKn93
« D96 49832 4 K954
v 8542 vKn83 v 7532
41052 ¢ 8642 498
&#Kn73 #Kn9 742
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 14 INO+1  #J -120 140 00| 1 5 3NV= 46 -400 100 4.0|12 3 4vyN= s] 420 13.0 1.0
15 9 3v 0= 3 -140 120 20| 3 16 54 V= *7 -400 100 4.0|13 5 44 N= ¢ A 420 13.0 1.0
1 5 INO+4 8 -210 100 40|11 2 3NV= I} -400 100 40| 7 9 54 N-1 vJ] -50 10.0 4.0
6 8 3NO= %] -600 80 6.0[12 7 3NV= a7 -400 100 40| 1 8 5vDN-1 +A -100 8.0 6.0
12 7 3NO+1 v4 -630 6.0 80|13 4 3NV= +Q -400 100 40|14 11 54 Q+1 &5 -620 4.0 10.0
3 16 3NO+2 ¢8 -660 20 120| 6 8 3NV+1 a7 -430 3.0 11.0|{15 10 5¢ O+1 v7 -620 4.0 10.0
11 2 3NO+2 v¥5 -660 20 12.0|10 14 3NV +1 46 -430 30 11.0|16 4 5«V+1 7 -620 4.0 10.0
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13 4 3NO+2 46 -660 20 120|115 9 3NV+2 v2 -460 0.0 140| 2 6 64DV= vA -1540 0.0 14.0
10 «KD 11 485 12 & EKKn8
Ost v KDKNn9643 Syd v D1075 Vast v K82
Alla *4 Ingen ¢ KDKn NS + KD9753
#Kn82 #6432 *-
4E4 4 Kn10987 49742 «KDKn 432 « D97654
vE72 v5 vEKn4 vK2 vEDKnN953 v-
¢ ED1073 ¢ 862 ¢ E943 410765 .- + Kn86
«D73 #9654 «Kn5  #D987 #EK1074  #Kn952
#6532 «E1063 «10
v 108 v 9863 v 10764
¢ KKn95 +82 ¢ E1042
#EK10 #EK10 «D863
Par  Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
12 3 4v N= 3 620 140 00| 8 10 2¢v N= +K 110 13.0 10|11 15 5vDV-5 &K 1100 14.0 0.0
1 8 44 0-3 vT 300 120 20|11 15 2v N= s A 110 130 10| 8 10 5¢ N= 46 600 120 2.0
2 6 3y N+l ¢2 170 80 6.0(13 6 laV-l ¢+ K 50 100 40| 9 2 3¢ N+2 5 150 9.0 5.0
7 9 3y N+l & 170 80 6.0| 5 16 Pass 80 6.0{13 6 3vV-3 *K 150 9.0 5.0
14 11 3vy N+1  oT 170 80 60| 3 7 2vS-1 a4 -50 60 80| 1 4 4v V-2 a A 100 4.0 10.0
13 5 3vyN= a) 140 40 100| 9 2 INV= ¢+ K 90 4.0 10.0| 5 16 4v V-2 e A 100 4.0 10.0
15 10 4v N-1 +6 -100 10 130 1 4 24DN-1 «K -100 20 12.0|14 12 54DV-1 &A 100 4.0 10.0
16 4 4y N-1 &J -100 1.0 13.0(14 12 14 V+1 v7 -110 0.0 140| 3 7 4aV-1 LY 50 0.0 14.0
13 « 8762 14 D96 15 « E952
Nord v D65 Ost vE42 Syd v K1087
Alla +E9 Ingen ¢ K984 NS + EK10
#KD106 #ED3 #52
« KKn1095 «D4 432 « EK1075 4Knl083 4K
vK4 vE10872 vKKn10985 vD76 vKn963 v542
¢ KKn85 ¢10763 +5 ¢ Kn10732 ¢ Kn43 ¢ 852
*E8 #Kn5 #Kn1052 *- #Kn8 #D109763
«E3 & Kng4 « D764
v Kn93 v3 vED
¢ D42 ¢ ED6 ¢ D976
#97432 #K98764 *EK4
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
4 8 la V= *K -80 140 00| 9 11 4aS= +5 130 140 00| 3 6 44 S+l v6 650 110 3.0
2 5 2vV= »T -110 90 50(16 6 4v V-1 *A 50 120 20| 4 11 44 S+1 ¢33 650 11.0 3.0
9 11 2¢ V+1  #K -110 90 50|12 15 54#S-1 5 -50 100 4.0|10 12 44 S+1 &) 650 110 3.0
12 15 2¢ V+1  v5 -110 90 50| 4 8 3NN-2 v6 -100 70 7.0|13 8 44 S+l v6 650 110 3.0
13 7 2¢ V+1 &K -110 90 50(13 7 3NS-2 vT -100 70 7.0| 2 14 3NS+1 ¢ 630 6.0 8.0
3 10 2¢ V+2 &K -130 4.0 10.0| 3 10 2v V+2 &#A -170 40 100| 5 9 4a4S= v5 620 4.0 10.0
16 6 1a V+2 ¢A -140 20 12.0| 1 14 4v V= *4 -420 20 12015 1 64S-1 EN -100 20 12.0
114 29 0+2 4A 170 0.0 140| 2 5 4vyDV+l #A -690 0.0 14.0| 7 16 6NS-3 L) -300 0.0 14.0
16 & KKn2 17 » EK65 18 « KD654
Vast v Kn1085 Nord v EKn109 Ost v 102
ov + E1087 Ingen ¢ D43 NS ¢ DKn10
*97 82 #Kn54
«E876 D109 «DKn4 #1082 4ET72 & Kn983
v974  vEK632 vK876  v532 vE9 v K54
42 + D95 ¢85 + EK96 ¢E6G43 ¢ K72
#ED84 #52 #DKn63 #E94 #D1063 #K82
543 4973 10
vD vD4 v DKn8763
¢ KKn63 ¢ Kn1072 4985
#KKn1063 #K1075 *E97
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 16 3v O-3 43 300 140 00| 4 7 INDS+1 «Q 280 140 0.0(15 2 INO-2 v7 100 140 0.0
2 14 3v0O-2 *6 200 120 20|11 1 INN+2 +A 150 120 20| 4 7 3NO-1 vQ 50 110 3.0
3 6 3v0-1 +4 100 70 7.0{13 9 INS+1 3 120 9.0 50| 512 3NV-1 vT 50 11.0 3.0
4 11 3v0-1 vQ 100 70 7.0]|15 2 INS+1 v7 120 90 50(14 3 INV= v2 -90 80 6.0
5 9 2v0-1 +6 100 70 7.0| 6 10 24 N= *A 110 60 80(11 1 2vN-1 2 -100 50 9.0
13 8 2v0O-1 43 100 70 70| 512 INS-1 +Q -50 20 12013 9 2y N-1 *2 -100 50 9.0
15 1 3#S-2 v4 -100 20 12.0{14 3 INS-1 3 -50 20 12.0(16 8 2NV= vT -120 20 12.0
10 12 2v O = *6 -110 0.0 140|16 8 INS-1 *6 -50 20 120| 6 10 34 O= *7 -140 0.0 14.0
19 «KD3 20 « D62 21 954
Syd v Kn107 Vast vE10764 Nord v K82
oV +1084 Alla +9 NS ¢ D1054
#D1092 #10742 #KKn2
4E109542 «Kn «E875 4K1094 «EDKN10 472
v32 v EK985 v9 v K5 v D103 v EKn74
¢ EKn ¢ K53 ¢ EK732 +D5 ¢E32 + K9876
»E76 #Kn543 #D65 #KKn983 %853 #109
« 876 4 Kn3 K863
v D64 v DKn832 v 965
¢ D9762 ¢ Kn10864 ¢ Kn
*K8 &E #ED764
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
9 16 3NV-3 &T 300 140 00| 5 8 440-1 SA 100 120 20| 5 14 2NO-1 *4 50 140 0.0
6 1 4eV-1 *9 100 120 20| 6 1 440-1 *A 100 120 20| 7 2 INO= &4 90 120 20
5 8 24V+2 vJ -170 100 40|12 2 44 0-1 *A 100 120 20| 4 15 14 S-1 3 -100 10.0 4.0
7 11 3NO+1 2 -630 60 80| 9 16 3#0= vQ -110 80 6.0 6 9 24V= &K -110 80 6.0
12 2 3NO+1 2 -630 60 80| 3 15 440= *A -620 4.0 10.0| 8 12 INO+1 %4 -120 6.0 8.0
13 10 3NO+1 +6 -630 60 80| 7 11 44 0= vQ -620 4.0 10.0|13 11 3¢ V+1 &K -130 4.0 10.0
3 15 44 V+1l  v] -650 20 12.0[13 10 44 O= SA -620 40 100| 1 3 24 V+l v2 -140 20 12.0
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14 4 3NO+2 *2 -660 14 4 44 O+1 &A -650 16 10 2NV +1 49 -150 0.0
498732 & EKn72 « K106
vD109 v 8752 vD8
¢+ KD104 + 102 + D84
&8 &#Kn94 &D9754
« DKn4 » 106 D10 & K96 4 E9752 &84
v 763 v EKn842 vyKn9 D vEKKNn632 v109754
¢+ Kn ¢ 872 ¢ D9543 ¢ EKKN86 + 102 + Kn76
1076532 #EKnN9 »K63 10752 - &Kn102
& EK5 #8543 « DKn3
v K5 v EK1043 v-
¢ E9653 *7 + EK953
&KD4 &ED8 &EK863
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 9 44 N+1 +8 450 140 00| 9 1 5¢DV-2 38 500 140 00| 6 14 54DN+1 38 650 140 0.0
5 14 3NS+1 &3 430 100 40|11 16 2v S+1 &3 140 120 20| 8 3 5&N+1 vT 420 120 2.0
8 12 3NS+1 v7 430 100 40|13 12 2v S= +3 110 100 40|11 16 5vDV-2 &9 300 8.0 6.0
16 10 3NS+1 &5 430 100 40| 7 10 4e¢ V-1 v5 100 80 6.0|13 12 5vDV-2 ¢4 300 8.0 6.0
1 3 44 N= 7 420 40 100| 6 14 3v S-1 &3 -100 40 100|15 5 6vyDV-2 ¢4 300 8.0 6.0
4 15 44 N= 46 420 40 100| 8 3 3vS-1 +3 -100 40 10.0| 7 10 5vDV-1 &4 100 4.0 10.0
13 11 44 N= vA 420 40 100|15 5 4vS-1 +3 -100 40 100| 2 4 4v V= 46 -420 2.0 12.0
7 2 54 N-1 vA -50 0.0 140| 2 4 3¢ V+1 v5 -130 0.0 140| 9 1 4vDV= *4 -590 0.0 14.0
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